The particle enough indicates that the quantity, number or quality of something is sufficient.

' ﬁ Complete the sentences with “too” , “enough” , “too many” or
0

much”.
¥ -~
The air conditioning is - 100 — low. I'm freezing.
@ This basket is not big - e r)o C/gb . for all the shopping.
@ We have J OC VAN Y souvenirs.
23 ';.@ Yes, and | think thereis _fOO -HC'/L(/_C,_b_*_ sugarin it.
Yes, but | don't think I'll have l,;oo (QQLJZ)*__..
(%) We haven't got Lo Ugh ___money for the expedition.
@ cars and - -‘_J;QO smoke from factories.
@ This video clip is good £ N 51 )‘) to win the contest.
1: The electrical system in your house is ’LOO old.
J) Dowehave A N OU'C} b — salmon for everybody?

k. You don’ ‘ 9 )
K, on'tknow himwell < M~ S.Jf?__,_~ to say that.

1; Yes, but she talks  C 1 AV, 09 h



=

/"

-p Answer the

questions using “too”

@ why can't elephants jump?

becaws e 1le) awe 100 r b heayuy

@ 2.Why can't a child drive a car?

i S /
b ECadse \)l_s 100 .S"Y)QH

@ Why couldn’t you solve the problem?

The 1volh 15 900,306 cold wibent ik

@ Why couldn’t he drink the coffee?

be—cause ¢ 1s 400 hat o
E,’ Answer the questions using “enough’, .§

Why can't you buy a Ferrari?

J)QCOIUSQ’ Aon{} have erﬂu9h mMmoney

(b)) Why can't Sue lift 100 kilos?

&6(:005@ l onm}?l "’OUQ enochh 64f€n9“’>

@ Why couldn’t Sam reach the cupboard?

becovse 14 1s nod dall éﬁoug\\

@ Why couldn’t she put on the dress?

YeCquse ¢k a\ml ‘ %'o'\\‘:' encug b




